PITT Qube HD-5-AAA-O

Copyright(c) KOSHIN Ltd. All Rights Reserved. 1 2025/01/1513:36:24



PITT Qube

HD-5-AAA-O

No. mE & - HME B Eff iBE
1 045718201 [HD-5/\Y KL o 3 1 1,100
2 045345801 HD-54efg/ N1 7 1 400
3 045345701 |HD-5&ER/S4 7 2 500
4 045345601 |HD-5 F#&mEQ PP 1 300
5 045345501 [HD-5 Y &IEQ PP 1 300
6 045345901 [HD-5%0OmENO 1 500
7 045349001 |HD-5/5f7+ v kM5x0.8 GB-T6170_F-{19 200
2000,M5x0.
8
8 045349101 [HD-5/\RES GB93-87.5 |18 200
9 045349201 |HD-5FFES GB-T97_1- |12 200
2002,5
10 045345201 |HD-5 &{&R PP-R370Y |1 1,000
11 045346501 HD-58HB R ) —7 SREMRBEE |2 200
12 045346801 |HD-5&B S45C 1 200
14 045346101 HD-5%+ A SEM KRB |1 1,900
15 045347001 [HD-5R—JL 2 200
16 045347201 |HD-5R—JL/Rvy £ (1) 1 1,500
17 045347601 [HD-50Y >4 1 200
18 045345301 HD-5 A& L PP-R370Y |1 500
19 045349401 [HD-5h5ZX%xYM5x16 GB-T818_H- |1 200
2000,M5x16
20 045349801 [HD-5h5 X% M8x13 GBT5856,1, |1 200
ST4.8x13
21 045348801 [HD-54a UM5x10 GB-T5780- |1 200
2000,M5x10
22 045346201 HD-5¥+ B SRERARBERE |1 900
23 045346701 |HD-5&A S45C 1 500

Copyright(c) KOSHIN Ltd. All Rights
Reserved.

2025/01/1513:36:24




PITT Qube

HD-5-AAA-O

No. mE & - HME B Eff iBE
24 |045347701 [HD-5EEE Y A GB-T91- 1 200
2000,1.8x16
25 045346301 HD-5/\Y RJLEAR ) — T SREM RBERE |1 200
26 045347101 HD-5:h—JL/Xw F > (K) 1 200
27 045350101 HD-5R7 Y v 5 GB- 1 400
T292_AC-
1994,7000_A
28  [045347401 |[HD-5CEIE&HER GB893.1-A- |1 200
26
29 045348001 [HD-57 /L kB 4 200
30 045346001 [HD-57 7 v~R—2 1 2,200
31 045346901 [HD-59#—LFv /47 S45C 1 2,200
32 045347301 |HD-5E Bt & GB896-6 1 200
33 045347801 |HD-5EIEF Y B GB-T91- 1 200
2000,2.9x45
34  |045347501 |HD-57xTJ)LhA 1 200
35 045345101 [HD-5 4 v RS5 1 800
36 045345401 |HD-5 7 7 > A/N— ABS 1 800
37 045348901 [HD-51aLUM5x16 GB-T820_H- |7 200
2000,M5x16
38 |045349301 |HD-5MM1LM5x16 GB- 4 200
T819_1H-
2000,M5x16
39 045345001 [HD-54 v o F%vw 7 PC 1 1,800
40 045349601 [HD-5h 5 XA %I M5x8 GB-T818_H- |1 200
2000,M5x8
41 045348101 |HD-5##7L— b 1 200
42 045361901 HD-55AE L N—FE=EY v Al 1 200
43 045348201 |HD-53@&IL /8— SUS304 1 400
44  |045349701 |HD-5F 352 %I M4.2x5 GB-T845 ST |1 200
4.2x6.5
45 045344901 [HD-54%v % PE 1 1,200

Copyright(c) KOSHIN Ltd. All Rights
Reserved.

2025/01/1513:36:24




PITT Qube

HD-5-AAA-O

No. mE i RE - ME B EM wE
46 045344801 [HD-5 77 hH/X— HDPE 1 2,300
47 |045348301 [HD-5RIL KDYV Y SUS304 4 300
48  |045349501 [HD-5h5RAXIM5x12 GB-T818_H- [4 200

2000,M5x12
49 045350001 [HD-5~L b 2 700
50 |045349901 [HD-5&#S L 1 300
51 |045366801 [HD-5-AAA-0 JANS L 1 200
52 |045368101 |HD-5#BERARTI NI 1 200
53 |045368701 |HD-5FRALEDEERSNIL 1 200
54  [045347901 [HD-5A Y RIL 7w v— 1 200
55  |045346401 |[HD-5#AR'—7 ERELMRIERE (2 200
00 [045369301 [HD-5EXIREEAZE 1 300

Copyright(c) KOSHIN Ltd. All Rights
Reserved.

2025/01/1513:36:24




